
SOUND CONTROL TECHNOLOGIES, INC.  |  203-854-5701  |  WWW.SOUNDCONTROL.NET

RCWV2-CP6™ Masonry Camera Mount 
Installation Instructions

Updated: 11/10/2021

INCLUDED KIT-SPECIFIC PART LIST

1.	 Wall Mount Plate (Qty 1) 

2.	 Module Cradle (Qty 1)

3.	 Mounting Channel (Qty 1)

4.	Camera Plate (Qty 1)

5.	 8-32 Hex Nuts (Qty 2)

6.	8-32 x 7/16 Pan Head Screws (Qty 2)

7.	 1/4-20 x 3/8 Thumb Screw (Qty 1)

8.	6-32 x 5/16 Torx Screws (Qty 2)

PARTS NOT INCLUDED

9.	Wall Mount Screws (Qty 4) 
(Integrator-supplied based on type 
of wall and site requirements)

10.	Cisco Precision 60 Camera (Qty 1)

ASSEMBLY INSTRUCTIONS

1.	 Mount the Wall Mount Plate (No. 1, Qty 1)  
utilizing four of the perimeter holes and Wall 
Mount Screws (No. 9, Qty 4). 

2.	 The rectangular hole must line-up with the 
rectangular hole in the back of the Module 
Cradle (No. 2, Qty 1).

3.	 Ensure that your CAT5e/CAT6 cable is pulled 
through the rectangular hole in both the 
Mounting Channel (No. 3, Qty 1) and  
the Module Cradle (No. 2).

4.	Knock out holes on the Mounting Channel 
(No. 3) to line-up with the Wall Mount Plate 
(No. 1) The Mounting Channel holes line up 
with every 5th hole (meaning there will be 3 
unpunched holes between each punched hole).

5.	 The Mounting Channel (No. 3) can be 
separated along the horizontal laser 
perforation to shorten if desired.

6.	Attach the Module Cradle (No. 2) to 
the Mounting Channel (No. 3) using 
the 8-32 Hex Nuts (No. 5, Qty 2).

7.	 Attach the Mounting Channel (No. 3) to  
the Wall Mount Plate (No. 1) utilizing the  
8-32 x 7/16 Pan Head Screws (No. 6, Qty 2).

8.	Attach the Camera Plate (No. 4, Qty 1) to the 
Cisco Precision 60 Camera (No. 10) utilizing  
the 1/4-20 x 3/8 Thumb Screw (No. 7, Qty 1).

9.	Attach the Camera Plate (No. 4) and the 
Cisco Precision 60 Camera (No. 10) to 
Module Cradle (No. 2), securing with the 
6-32 x 5/16 Torx Screws (No. 8, Qty 2).

BEFORE YOU GET STARTED

Please make sure that you have all parts indicated before you begin mount assembly, and 
that materials are mounted in accordance with commercial construction� best practices.

http://www.soundcontrol.net

